


Year 1 Unit 7: Exploring 
calculation strategies within 20

Lesson 1: Deriving facts





D
o

 N
o

w
Which strategy would you use?

‘Make ten’? Count on? Number bonds?

𝟔 + 𝟐 𝟏𝟐 + 𝟕 𝟕 + 𝟓

𝟏𝟑 + 𝟔 𝟖 + 𝟑 𝟏𝟖 + 𝟏
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Key learning: To use number bonds to derive subtraction facts and teens 

facts

part whole related

known fact
number bond
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Related facts
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If I know…

then I know…

𝟐

𝟖
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Part-whole related facts
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Three is a part. Five is a 

part. Three plus five is 

equal to eight. The 

whole is eight. If I know 

three plus five is equal 

to eight, then I know 

five plus three is equal 

to eight. 

Eight is the whole. I 

subtract the part of 

three. Five is the other 

part. If I know eight 

subtract three is equal 

to five, then I know 

eight subtract five is 

equal to three. 
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Part-whole related facts
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Deriving teens facts
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How can we use the number bond 3 + 4 = 7 to 

find the whole when the parts are 13 and 4?
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Deriving teens facts
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https://o.remove.bg/downloads/656c12d0-c34f-4d1c-962f-77e8719105a7/what_s_the_same_icon-removebg-preview.png


Deriving teens facts
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If I know 13 + 4 = 17, what else do I know?

𝟒

𝟏𝟑

𝟏𝟕

𝟏𝟑 𝟒 𝟏𝟕+ =

+ =
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Key learning: To use number bonds to derive subtraction facts and teens 

facts
Use cubes on a 

part-whole model 

to model each 

calculation and 

complete the 

missing information!

𝟒 𝟏𝟕= −

𝟒

𝟑

𝟕

𝟒

𝟏𝟑

𝟑 𝟒+ =

𝟒 𝟕+ =

𝟕 𝟑− =

𝟕 𝟑− =

𝟏𝟑 𝟒= +

𝟏𝟕 𝟒= +

𝟏𝟑 𝟏𝟕= −
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Key learning: To use number bonds to derive subtraction facts and teens 

facts
Use cubes on a 

part-whole model 

to model each 

calculation and 

complete the 

missing information!



Identifying misconceptions
3 + 4 = 7

7 + 4 = 3

7 − 4 = 3

3 − 4 = 7
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I've written the 

related facts for 

this part-whole 

model!
Has he written his equations correctly?  

How do you know?
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